<u>GPA</u>

Unofficial Transcript

Name: Nile Roth Student ID: 6058918

Institution Info: Northern Arizona University

Print Date: 12/20/2024

Degrees Awarded

Degree: Bachelor of Science in Computer Science

Confer Date: 12/13/2024 Degree Honors: Cum Laude

Plan: Computer Science - Major (BSCS)

Other Institutions Attended: Salpointe Catholic High School

External Degrees

Salpointe Catholic High School

High School Degree or GED - 05/16/2020

Beginning of Undergraduate Record

Fall 2020

								<u>GPA</u>	
<u>Course</u>		Description			Attempted	Grade	Earned	<u>Units</u>	Points
CHM	151	GENERAL CH	IEMISTRY I		4.00	Α	4.00	4.00	16.00
CHM	151L	GENERAL CHEMISTRY I LAB		1.00	Α	1.00	1.00	4.00	
EGR	186	INTRO TO ENGINEERING DESIGN			3.00	Α	3.00	3.00	12.00
ENG	105	CRITICAL RE	AD/WRITNG IN UNIV		4.00	Α	4.00	4.00	16.00
MAT	136	CALCULUS I			4.00	В	4.00	4.00	12.00
								<u>GPA</u>	
							<u>Earned</u>	<u>Units</u>	Points
		Term GPA:	3.75		Term	n Totals:	16.00	16.00	60.00
		Cum GPA:	3.75		Cun	n Totals:	16.00	16.00	60.00
		Term Honor:	DEAN'S LIST						

ACADEMIC STANDING: GOOD as of 12/03/2020

Spring 2021

- J 5						<u>GPA</u>	
<u>Course</u>		<u>Description</u>	<u>Attempted</u>	<u>Grade</u>	Earned	<u>Units</u>	<u>Points</u>
CHM	152	GENERAL CHEMISTRY II	3.00	В	3.00	3.00	9.00
CS	105	COMPUTING TOOLS I	1.00	Α	1.00	1.00	4.00
CS	126	COMPUTER SCIENCE I	3.00	Α	3.00	3.00	12.00
CS	126L	COMPUTER SCIENCE I LAB	1.00	Α	1.00	1.00	4.00
MAT	137	CALCULUS II	4.00	Α	4.00	4.00	16.00
SOC	101	INTRODUCTION TO SOCIOLOGY	3.00	Α	3.00	3.00	12.00

 Term GPA:
 3.80
 Term Totals:
 15.00
 15.00
 57.00

 Cum GPA:
 3.77
 Cum Totals:
 31.00
 31.00
 117.00

Term Honor: DEAN'S LIST

ACADEMIC STANDING: GOOD as of 05/10/2021

Unofficial Transcript

Name:	Nile Roth
Student ID:	6058918

Student ID:	6058918	3					
Fall 2021							
Course AST CS CS CS	180 136 136L 200	Description INTRODUCTION TO ASTRONOMY COMPUTER SCIENCE II COMPUTER SCIENCE II LAB INTRO TO COMPUTER ORGANIZATION	Attempted 3.00 3.00 1.00 3.00	Grade A C B C	Earned 3.00 3.00 1.00 3.00	GPA Units 3.00 3.00 1.00 3.00	Points 12.00 6.00 3.00 6.00
MAT	226	DISCRETE MATHEMATICS	3.00	В	3.00	3.00	9.00
PSY	101	INTRODUCTION TO PSYCHOLOGY	3.00	Α	3.00	3.00	12.00
						GPA	
		Town CDA: 2.00	Torr	n Totalar	Earned	Units	Points
		Term GPA: 3.00 Cum GPA: 3.51		n Totals: m Totals:	16.00	16.00	48.00
		ACADEMIC STANDING: GOOD as of 12/17/2021	Cui	n rotais.	47.00	47.00	165.00
		ACADEMIC STANDING. GOOD as of 12/17/2021					
Spring 20 Course AST	201	Description INTRO TO INDIGENOUS ASTRONOMY	Attempted 3.00	<u>Grade</u> A	Earned 3.00	GPA Units 3.00	<u>Points</u> 12.00
CS CS	205 212	COMPUTING TOOLS II WEB PROGRAMMING I	1.00 3.00	A	1.00 3.00	1.00 3.00	4.00 12.00
CS	249	DATA STRUCTURES	3.00	В	3.00	3.00	9.00
STA	275	STATISTICAL ANALYSIS	3.00	Α	3.00	3.00	12.00
		Term GPA: 3.77	Terr	n Totals:	<u>Earned</u> 13.00	GPA Units 13.00	<u>Points</u> 49.00
		Cum GPA: 3.57		m Totals:	60.00	60.00	214.00
		Term Honor: DEAN'S LIST					
		ACADEMIC STANDING: GOOD as of 05/16/2022					
Fall 2022						0.7.4	
<u>Course</u> ART	150	Description TWO-DIMEN DESIGN FUNDAMENTALS	Attempted 3.00	<u>Grade</u> A	Earned 3.00	GPA Units 3.00	Points 12.00
CS	305	COMPUTING TOOLS III	1.00	A	1.00	1.00	4.00
CS CS	345 386	DATABASE SYSTEMS SOFTWARE ENGINEERING	3.00 3.00	A A	3.00 3.00	3.00 3.00	12.00 12.00
EGR	333W	TECHNOLOGY AND SOCIETY	3.00	Α	3.00	3.00	12.00
		Term GPA: 4.00	Torr	n Totals:	<u>Earned</u> 13.00	GPA Units 13.00	<u>Points</u> 52.00
		Cum GPA: 3.64		m Totals:	73.00	73.00	266.00
		Term Honor: DEAN'S LIST	Odi	ii rotalo.	70.00	70.00	200.00
		ACADEMIC STANDING: GOOD as of 12/28/2022					
Spring 20	23					CD4	
<u>Course</u> ART AST	100 210	Description ART APPRECIATION CELEBRATING DIVERSITY IN AST	Attempted 3.00 3.00	<u>Grade</u> A A	Earned 3.00 3.00	<u>GPA</u> <u>Units</u> 3.00 3.00	Points 12.00 12.00
CS	315	AUTOMATA THEORY	3.00	A	3.00	3.00	12.00
CS	396	PRINCIPLES OF LANGUAGES	3.00	A	3.00	3.00	12.00
MAT	316	INTRODUCTION TO LINEAR ALGEBRA	3.00	Α	3.00	3.00	12.00

Unofficial Transcript

		Unofficial Transcr	ıpt				
Name: Student ID:	Nile Rot 6058918						
Student ID.	0030910	Term GPA: 4.00 Cum GPA: 3.70 Term Honor: DEAN'S LIST ACADEMIC STANDING: GOOD as of 05/22/2023		m Totals: m Totals:	Earned 15.00 88.00	GPA Units 15.00 88.00	Points 60.00 326.00
Fall 2023							
Course CS CS CS CS GSP	421 450 476 480 241	Description ALGORITHMS PARALLEL PROGRAMMING REQUIREMENTS ENGINEERING OPERATING SYSTEMS WORLD GEOGRAPHY EAST	Attempted 3.00 3.00 2.00 3.00 3.00	Grade A B A B	Earned 3.00 3.00 2.00 3.00 3.00	GPA Units 3.00 3.00 2.00 3.00 3.00	Points 12.00 9.00 8.00 9.00 12.00
						<u>GPA</u>	
		Term GPA: 3.57	Terr	m Totals:	Earned 14.00	<u>Units</u> 14.00	<u>Points</u> 50.00
		Cum GPA: 3.69		m Totals:	102.00	102.00	376.00
		Term Honor: DEAN'S LIST	ou.	in rotalo.	102.00	102.00	070.00
		ACADEMIC STANDING: GOOD as of 12/22/2023					
Spring 20	24						
Spring 20	124					<u>GPA</u>	
<u>Course</u>	450	<u>Description</u>	Attempted	<u>Grade</u>	Earned	<u>Units</u>	Points
CS CS	453 460	GPU PROGRAMMING COMPUTER NETWORKS	3.00 3.00	A B	3.00 3.00	3.00 3.00	12.00 9.00
CS	486C	CAPSTONE EXPERIENCE	4.00	Ā	4.00	4.00	16.00
FIT	100	PHYSICAL EDUCATION	1.00	Р	1.00	0.00	0.00
FIT	100	Topic: INTRO TO BOULDERING PHYSICAL EDUCATION	1.00	Р	1.00	0.00	0.00
		Topic: DOWNHILL SKI / SNOWBOARD					
		Term GPA: 3.70 Cum GPA: 3.69 Term Honor: DEAN'S LIST ACADEMIC STANDING: GOOD as of 05/20/2024		m Totals: m Totals:	Earned 12.00 114.00	GPA <u>Units</u> 10.00 112.00	Points 37.00 413.00
Fall 2024						054	
Course		Description	Attempted	Grade	<u>Earned</u>	<u>GPA</u> Units	Points
CS	440	SOFTWARE ARCHITECTURE	3.00	A	3.00	3.00	12.00
CS FIT	470	ARTIFICIAL INTELLIGENCE PHYSICAL EDUCATION	3.00 1.00	A P	3.00	3.00 0.00	12.00 0.00
ГП	100	Topic: INTERMEDIATE BOULDERING	1.00	Р	1.00	0.00	0.00
FIT	100	PHYSICAL EDUCATION	1.00	W	0.00	0.00	0.00
		Topic: DISC GOLF					
						<u>GPA</u>	
		Torm CDA: 4.00		m Totals:	Earned 7.00	<u>Units</u>	Points
		Term GPA: 4.00		m Totals:	7.00	6.00	24.00
		Cum GPA: 3.70	Cui	m Totals:	121.00	118.00	437.00

Unofficial Transcript

Name: Nile Roth Student ID: 6058918

ACADEMIC STANDING: GOOD as of 12/18/2024

3.70

Undergraduate Career Totals

Cum GPA:

 GPA

 Earned
 Units
 Points

 NAU Enrollment Totals:
 121.00
 118.00
 437.00

 Transfer Totals:
 0.00
 0.00
 0.00

 Cum Totals:
 121.00
 118.00
 437.00

End of Undergraduate